
SC SIMPLEX ADAPTER HOLDERSDUAL SPLICE HOLDERS

COUNTER SINKS, ALLOW THE HEAD 
OF THE FLAT HEAD SCREW, TO SIT 
FLUSH WITH SCREW BOSS

BASE

FIBER  ACCESS PORTS 

#6 x 1" FLAT HEAD SCREW 

#6 x 1" FLAT HEAD SCREW 

 SC SIMPLEX ADAPTER

 SC SIMPLEX ADAPTER

HOLDS TWO 4Omm 
SPLICE SLEEVES

HOLDS TWO 
4Omm SPLICE 
SLEEVES

INSERT SC SIMPLEX ADAPTERS & FUSION SPLICES INTO FLUSH MOUNT WALL PLATE

                          OFS FITEL, LLC
              FLUSH MOUNT WALL PLATE
                         MARCH 2016

D16AK0027

ISSUE 1

PAGE 1

FLUSH MOUNT WALL PLATE ATTACHMENT POINTS

INSTALLATION INSTRUCTIONS



#6 x 1" FLAT HEAD SCREW 

SCREW HOLE IN UTILITY BOX #6 x 1" FLAT HEAD SCREW 

SCREW HOLE IN UTILITY 
BOX

FIBER ROUTED INSIDE FLUSH MOUNT WALL PLATE

CONNECTING FLUSH MOUNT WALL PLATE TO UTILITY BOX

THREAD FIBER THROUGH FIBER ACCESS PORT THEN PLACE #6x 1" FLAT 1.
HEAD SCREW INTO BASE AND SCREW BASE ONTO UTILITY BOX.

                          OFS FITEL, LLC
               FLUSH MOUNT WALL PLATE
                         MARCH 2016

D16AK0027

ISSUE 1

PAGE 2INSTALLATION  INSTRUCTIONS



#4 X 12 PAN HEAD SCREW

COVER

                          OFS FITEL, LLC
              FLUSH MOUNT WALL PLATE
                         MARCH 2016

D16AK0027

ISSUE 1

PAGE 3

ATTACH COVER AND INSERT SCREW

ATTACH COVER TO BASE AND  INSERT SCREW INTO HOLE AS 3.
SHOWN TO FASTEN COVER TO THE BASE.
INSERT # 4 PAN HEAD SCREWS AS SHOWN THEN GENTLY 4.
TIGHTEN SCREWS

INSTALLATION INSTRUCTIONS


	Sheet 1
	Drawing View1
	Drawing View3

	Sheet 2
	Drawing View4

	Sheet 3
	Drawing View8


